



姓名: _____

日期: _____ 分數: _____

$$6^{(-2)} + (-5) =$$

$$1^{(-1)} + (-1) =$$

$$7^2 + (-5) =$$

$$(-10)^2 - 7 =$$

$$(-8)^2 + (-1) =$$

$$(-6)^2 - 8 =$$

$$(-1)^{(-1)} + 10 =$$

$$(-7)^2 - (-7) =$$

$$(-6)^2 + 2 =$$

$$(-3)^{(-2)} + 1 =$$

$$8^2 - (-9) =$$

$$2^0 + 5 =$$

$$(-7)^{(-1)} - 1 =$$

$$(-9)^{(-1)} + (-9) =$$

$$2^2 + 8 =$$

$$6^2 + (-7) =$$

$$8 - (-7) =$$

$$5^2 + 7 =$$

$$(-8) + 10 =$$

$$(-4) + 10 =$$



姓名: _____

日期: _____ 分數: _____

$$6^{(-2)} + (-5) = \left(-\frac{179}{36}\right) = \left(-4\frac{35}{36}\right)$$

$$1^{(-1)} + (-1) = 0$$

$$7^2 + (-5) = 44$$

$$(-10)^2 - 7 = 93$$

$$(-8)^2 + (-1) = 63$$

$$(-6)^2 - 8 = 28$$

$$(-1)^{(-1)} + 10 = 9$$

$$(-7)^2 - (-7) = 56$$

$$(-6)^2 + 2 = 38$$

$$(-3)^{(-2)} + 1 = \frac{10}{9} = 1\frac{1}{9}$$

$$8^2 - (-9) = 73$$

$$2^0 + 5 = 6$$

$$(-7)^{(-1)} - 1 = \left(-\frac{8}{7}\right) = \left(-1\frac{1}{7}\right)$$

$$(-9)^{(-1)} + (-9) = \left(-\frac{82}{9}\right) = \left(-9\frac{1}{9}\right)$$

$$2^2 + 8 = 12$$

$$6^2 + (-7) = 29$$

$$8 - (-7) = 15$$

$$5^2 + 7 = 32$$

$$(-8) + 10 = 2$$

$$(-4) + 10 = 6$$